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KW nXw

Mathematics

(211)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment

]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ° pw DØ -c-sa-gp-tX-≠ -Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) \nß -fpsSt]cvF≥tdmƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page

of the answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) "te'(leh)F∂ ÿ esØ NqSvkotdmsS]-td-®-dn-t\-°mƒ9oCIpd-hm-bn-cp-∂p.
A tX-k-abw"A ar-’¿'F∂ ÿ esØ NqSvkotdmsSw]-td-®-dn-t\-°mƒ 1oC

IqSp-X-em-bn-cp-∂p.CtX-k-a-bØ v"au≠vA _p'F∂ ÿ eØ vNqSv C2 B bn-

cp-∂p.taev]-d™ ÿ e-ß -fpsSNqSvHcpkwJym-tc-J-bn¬kqNn-∏n-°p-I.

(]mTw 1 ImW p-I)

The temperature in Leh was 9oC below zero while inAmritsar it was 1oC above zero.At

the same time the temperature in MountAbu was C2 .Represent the temperatures of

these places on number line.

(See Lesson 1)

(b) 44 cm x 18 cmA f-hp-I-fp≈ NXp-cm-Ir-Xn-bmbHcpt]∏-¿,A Xns‚\of-h-i-Ø p-

IqSnNpcṕn]c-am-h[nhen-∏-ap≈ Hcpknen-≠¿D≠ m-°p-∂p.knen-≠-dns‚

hym]vXwIW -°m-°pI? (]mTw 21ImW p-I)

A rectangular sheet of paper 44 cm x 18 cm is rolled along its lengt and a cylinder is
formed. Find the volume of the cylinder

(See Lesson 21)
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2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) PQRSF∂ NXp¿̀p-P-Ø ns‚hnI¿Æ-ß ƒ(U-b-K-W ¬kv)]c-kv]cwka-̀mKw

sNøp-∂p.P = 40o B W vF¶n¬ Q IW -°m-°pI

(]mTw13 ImW p-I)

Diagonals of a quadrilaterals PQRS bisect each other. IfP = 40o determineQ.

(See Lesson 13)

(b) (1, 3) , (2, 7) F∂o_nµp-°ƒ tbmPn-∏n-°p∂ tcJm-J-fi -sØ ,3x + y - 9 = 0

F∂ tcJ Jfi n-°p∂ tdtjymIW -°m-°pI?

(]mTw19 ImW p-I)

Determine the ratio in which the line 3x + y- 9 = 0 divides the segment joining the points
(1, 3) and (2,7) (See Lesson 19)

3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) HcpNXp-c-Ø ns‚\ofwhoXn-bpsSCc-́n-tb-°m¬ 12mIqSp-X-em-W v.NXp-c-Ø ns‚
hnkvXo¿Æw 320m2 B W v.NXp-c-Ø ns‚\ofhpwhoXnbpwIW -°m-°p-hm≥

Ign-bp∂ c≠ pka-hm-Iy-ß ƒFgp-Xp-I.NXp-c-Ø ns‚\of-hpw,hoXnbpwIW -

°m-°pI? (]mTw6 ImW p-I)

The length of a rectangle is 12m more than twice the width. The area of the rectangle is 320
Square meter. Write an equation that can be used to find the length and width of the rect-
angle.Also find the dimensions of the rectangle. (See Lesson 6)

(b) NphsS sImSp-Ø n-́p≈ Nn{X-Ø ns‚ amXr-I-bn-ep≈ NXp-cm-Ir-Xn-bn-emb Hcp

]m¿°ns‚ a[y-Ø n-eqsS NXp-cm-Ir-Xn-bmb c≠ v]mX-I-fp-≠ v.]mX-I-fpsS

hnkvXo¿ÆwI≠ p-]n-Sn-°p-I.IqSmsX

AB = CD = 100ao‰¿

Ad = BC = 70ao‰¿

HE = SR = 5ao‰¿ (]mTw20 ImW p-I)

There are two rectangular paths in the middle of a park as shown in the adjoining figure.

Find the area of the path, it is give that (See Lesson 20)

AB = CD = 100 m

AD = BC = 70 m

HE = SR = 5m
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4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°pI

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) IaeRs.8000/-Hcp_nkn-\- n¬\nt£ -]n-°p-∂p.Iq́p-]-eni{Ia-Ø n¬A hƒ°v

5%]eni \¬Ip-∂p.1)c≠mwh¿jm-h-km\wIa-ebv°vèn-°p∂ XpIF{X?

2)aq∂mwh¿jwIa-ebv°vèn-°p∂ ]eni F{X? (]mTw8, 9 ImW p-I)

Kamala invested Rs.8000 in a business. She would be paid interest 5% perannum com-
pounded annualy. Find (i) The amount credited against her name at the end of the second
year. (ii) The interest for the third year (See Lesson 8 & 9)

(b) Hcp{XntIm-W -Ø ns‚ HcptImW ns‚ka-̀mPnA Xns‚ FXn¿h-isØ ka-

m̀KwsNøp-∂p-sh-¶n¬ A XvHcpka-]m¿iz{XntIm-W -amW vF∂vsXfn-bn-°pI.

(]mTw14 ImW p-I)

If the bisector an angle of a triangle bisects the opposite side, prove that the triangle is
isosceles. (See Lesson 14)

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm° p

Ifn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) Hcpkam-¥ct{]m{K-js‚ (A.P)B dm-asØ ]Z-Ø ns‚6aSß vA Xns‚Xs∂

9̨mw]Z-Ø ns‚9aS-ß n\vXpey-am-W v. (]mTw7ImW p-I)

If 6 times the 6th term of anA.Pis equal to 9 times its 9th term, then show that its 15th term

is zero (See Lesson 7)

(b) HcpSh-dns‚Nph-́n¬ \n∂pwA tX \nc-∏n¬ ÿ nXn-sN-øp∂ 30m Dbc-ap≈

as‰mcpSh-dns‚ A {Kw 60o ho£ W tImW n¬ (angle of elevation) ImW p-∂p.

c≠m-asØ Sh-dns‚Nph-́n¬\n∂pwB ZySh-dns‚A {Kw30o ho£ W tImW n¬

(angle of elevation) ImW p-∂p.c≠m-asØ Sh-dns‚ Nph-́n¬ \n∂pwB ZySh-

dns‚ A {Kw 30o ho£ W tImW n¬ ImW p-∂p.F¶n¬ c≠ vSh-dp-Iƒ XΩn-

ep≈ A I-ehpwA h-bpsSDb-chpwIW -°m-°p-I. (]mTw23ImW p-I)

The angle of elevation of the top of a tower 30m high from the foot of another tower in the
same plane is 60o, and the angle of elevation of the top of the second tower from the foot
ofthe first tower is 30o. Find the Distance between the two towers and also the height of the

other tower. (See Lesson 23)

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

P\-kw-Jybpw,IpSpw_hcp-am-\hpwkw_-‘n®v\nß -fpsS{Kma-Ø n-tem,Np‰p-h́tØ m

D≈ Npcp-ß n-bXv50IpSpw-_-ß -fpsSHcpk¿t∆\S-Ø p-I.

(i) IpSpw_ hcp-am-\-Ø ns‚ A wK-ß -tfbpw Dƒs∏-SpØ nHcpB hrØ n]́ nI

(Frequency Table) Xøm-dm-°p-I. (]mTw24,25ImW p-I)

(ii) icm-icn(Average) m̂anensskkvIW -°m-°p-I.icm-icn̂ manensskkn\v

apI-fn-embnF{X IpSpw-_-ß ƒD≠ v.
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(iii) IqSp-X¬hcp-am-\-ap≈ ]Ø vIpSpw-_-ß -fpsS_m¿{Km̂ vhc-°p-I.

Conduct a surveyof atleast 50 households from your locality/village, regarding population
andfamilyincome.

(i) Present the data related to familymembers in tabular form mentioning frequencies.

(ii) Calculate the average familysize. How manyfamilysize. How manyfamilies are above the
average familysize?

(iii) Draw the Bar graph for top10 earning families. (See Lesson 24 , 25)

(b) Cuh¿jw\S-°p∂ Hcp{In°‰vam®v\nco-£ n-°p-I.c≠vSoap-I-fpsS{]I-S\w

Xmc-Xayw sNbvXp-sIm-≠ p≈ Hcps{]mPIvSvdnt∏m¿́ vXøm-dm-°p-I.

(]mTw24&25ImW p-I)

(i) hy‡ n-KX kvtImdp-I-fpsSHcp]́ nIXøm-dm-°pI.

(ii) c≠ pSoap-I-fp-tSbpwHcpHmh-dn-\p≈ icm-icnkvtIm¿IW -°m-°p-I.

(iii) _m‰p-sN-bvX-h-cpsShy‡ n-KX d̈ td‰vImW p-I.

(iv) _uf¿am-cpsShy‡ n-KX d̈ td‰vImW p-I.

(iv) hnP-bn®SoanseG ‰hpwIqSp-X¬kvtIm¿t\Snb5_m‰vkvam≥am-cpsSkvtIm¿

ImW n-°p∂ Hcp_m¿{Km̂ vhc-°p-I.

Observe a cricket match to be held in the current year. Prepare a project report indicating
comparison of performances of the two teams with respect to: (See Lesson 24 & 25)

(i) Data of individual scores.

(ii) Team-wise average score per over

(ii) Run rate of individual batsman who did batting

(iv) Run rate of individual bowler who did bowling

(v) Draw a bar graph displaying the 5 top scoring batsman of the winning team

uuu



imkv{Xhpwkmt¶-XnI hnZybpw

Science and Technology

(212)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment

]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pw DØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given beside

the questions.

(ii) \nß -fpsSt]cv,{Ia\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚B Zy-

t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page of the

answer sheet.

1. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) aocImgvN-ssh-I-ey-ap≈ B fm-W v.HcpA Xn-YnbpwA h-fpsSA Ω-bp-am-bp≈

kẁ m-j-W -Ø n¬ \n∂vA hƒ°vB A XnYn(1)Hcp]pcp-j-\m-sW ∂pw(2)

A bmƒA h-fpsSA Ωm-h-\mW vF∂pwa\- n-em-bn.Fß n-s\-bm-W Xvkm≤y-

am-b-Xv. (]mTw 18 ImW p-I)

Meera is visually impaired. She hears a quests conversing with her mother. Just byhearing
the voice of the guest she recognised sound which revealed to her that (i) it was a male

voice, and (ii) the person was her maternal uncle. (See Lesson 18)

(b) cmap-hn\vISpØ ]\n-bmW v.A hs‚ A Ω HcpDjvW -am-]n-\n-bpsSklm-b-

tØ msS]\nA f∂v]\n-bpsSA fhvB b39osk‚nt{K-Un¬\n∂v̂ mc≥lo‰v

A f-hn-te°vam‰p-hm≥Fß s\klm-bn-°m≥Ign-bpw.(]mTw 14 ImW p-I)

Ram is down with high fever. His mother measures his body temperature to 39oC using a
celcius thermometer. Before leaving for the doctor's clinic she wants to know the value
on fahrenheit scale. Help her to convert the temperature on fahrenheit scale.

(See Lesson 14)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) Hcpaqe-I-Ø ns‚ kwtbm-P-IX (hm-e≥kn)3+ B W vF¶n¬

(]mTw6,ImW p-I)

An element X has a valency 3+ (See Lesson 6)



(i) A Xns‚t̂ mkvss Û vkwbp-‡ -Ø ns‚kq{X-hmIywFgp-Xp-I.

Write the formula of its phosphide.

(ii) A Xns‚Im¿_-tW ‰vkwbp-‡ -Ø ns‚kq{X-hmIywFgp-Xp-I.

Write the formula of the carbonate.

(iii) A Xns‚ss\t{S‰vkwbp-‡ -Ø ns‚kq{X-hmIywFgp-Xp-I.

Write the formula of its nitrate.

(iv) A Xns‚t_mtd‰vkwbp-‡ -Ø ns‚kq{X-hmIywFgp-Xp-I.

Write the formula of its Borates.

(b) (i) 0.5tamƒPe-Ø n¬F{X X∑m-{X-IƒDs≠ ∂vI≠ p-]n-Sn-°p-I.

Calculate the number of molecules present in 0.5 mole of water.

(ii) Na
2
CO

3
- 10 H

2
OF∂ kwbp-‡ -Ø ns‚kq{X-hmIỳmcwI≠ p-]n-Sn-°p-I.

Calculate the formula mass of sodium carbonate dehydrate (Na
2
CO

3
- 10 H

2
O)

3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm° p

Ifn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) \ΩpsSico-c-Ø n¬ izmk-tIm-i-ß ƒizk-\-Ø n\pw{KŸ n-Iƒ{kh-ß ƒ°pw

Icƒka-\z-b-Ø n\pwc‡ wNw{I-a-W -Ø n-\p-amW v{]tbm-P-\-s∏-Sp-∂-Xv.icocIe-

I-fn¬ CØ cw{]h¿Ø n-IƒsNøp∂ m̀K-ß ƒG XmW vF∂vkqNn-∏n-°pI.

(]mTw21 ImW p-I)

In the human being, lungs are for respiration, glands for secretion, liver for synthesis and
blood for distribution of substances. Name the counterparts in the cell which are the cell
organelles responsible for the same functions. (See Lesson 21)

(b) ]cn-ÿ nXnXe-Ø n¬ Du¿÷-Ø n-s‚bpwt]mj-I-ß -fp-sSbpwHgp°vhni-Z-am-

°p∂ Hcp̀£ y-irw-Je\n¿Ωn-°p-I. (]mTw29 ImW p-I)

Construct a food chain explaining flow of energy and nutrients in an ecosystem.

(See Lesson 29)

4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°p-I

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) ~HcphkvXp-hns‚ m̀cw25IntemB W v.A Xns‚\yq́-W n-ep≈ Xq°wF{X?

CtX hkvXp-hns\ q̀an-tb-°mƒ Cćǹ mchpw]IpXnB c-hp-ap≈ Hcp{Kl-

Ø n-se-Ø n-®m¬ A Xns‚Xq°wF{X-bmIpw?(g=10m/s2)

(]mTw10 ImW p-I)

Mass of a body is 25kg. What is its weight in newton on earth? The body is carried to a
planet whose mass is two times the mass of earth and radius is half that of earth. What will
be the mass and weight of the body on the planet? (Take the vlue of a g on earth as
10m s-2) (See Lesson 10)



(b) HcphnZym-e-b-Ø nse]co-£ -W -ime\nß ƒkµ¿in®pXmsg-]-d-bp-∂htiJ-

cn®p. (]mTw14 ImW p-I)

You have visited the laboratory of a school and collected the following. (See Lesson 14)

(i) Nacl (ii) Ccl
4

(iii) 1
2

(iv) Naphthalene

(v) Mgcl
2

(vi)Hcl (vii) C
2
H

5
OH

DØ -c-sa-gp-XpI:̨

(i) Fß ns\bmW vA tbm-W nIv_‘\wD≠ m-Ip-∂-Xv.

How does a ionic bond formed?

(ii) apI-fn¬ ]d-™ -hsb A tbm-W nIvF∂pw tImhm-e‚vF∂pwh¿§o-I-cn

°pI.

Classify the above chemicals into ionic and covalent compounds.

(iii) Ch-bn¬ sh≈-Ø n¬ebn-°p-∂-hsbIs≠-Ø p-I.

Identify the compounds which are soluble in water.

(iv) Ch-bn¬ Db¿∂ IzY\m¶wG Xpkwbp-‡ -Ø n-\m-W v.(Nacl / Nepthalene)

Which one has higher melting point Nacl or Nepthalene.

(v) Nacl(D∏v)HcpsshZypX kpNm-e-I-am-tW m.

Nacl (solid) will be a good conductor of electricity or not.

(vi) apI-fn¬ ]d-™ -hsbJcw,{ZhwF∂vh¿Ko-I-cn-°p-I.

Classify the above Chemicals into solid and liquid.

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm° p

Ifn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) ~arK-ß ƒ°vaq∂p-Xcwt]io-I-e-IƒB W p-≈-Xv.hc-bp-≈ Xv(straited) ssII-

fn¬ImW p-∂-h,]ns∂ lrZbt]in-IƒF∂-h-bm-W -Xv.Ch-bpsS{]tXy-I-X-

Iƒhnh-cn-°p-IbpwCh{]Xy-£ -am-Ip∂ CS-ß -fnsekm∂n-≤yhpw\oXo-I-cn-

°p-I. (]mTw7 ImW p-I)

Animals have three types of muscle tissue, striated found in arms etc. unstriated found in
lining of stomach and cardiac found it the heart. Mention the characteristics of each which
justify their presence in the locations mentioned above (See Lesson 7)

(b) Xmsg-]-d-bp-∂hB tKmfXm]-\-Ø n\vFß ns\Imc-W -am-Ip-∂p.

(]mTw ImW p-I)

How do the following contribute towards global warming? (See Lesson)

(i) ]p√vXn∂p∂ kkvX-\n-Iƒ

GrazingCattle

(ii) P\-kwJyA [n-I-amb\K-c-ß ƒ

Overpopulated cities

(iii) hyh-kmbime-Iƒ

Factories

(iv) amen-\y-Pz-e\w

BurningWaste



6. Xmsg-]dbp-∂-h-bn¬ H∂ns\Ipdn®vHcpt{]mPIv‰vXøm-dm-°p-I. 6

Prepare any one project out of the given below.

(a) C\n-]-d-bp∂ tNmZy-ß ƒ°vDØ cw\¬Ip-I.

Answer the followingquestions.

(i) ""F¥mW vsImtdmW sshdkv''?

What isnovel "Coronavirus"?

(ii) sImtdmW _m[-bpsSe£ -W -ß ƒG h?

List out the symptoms of novel coronavirus.

(iii) IpSpw-_-Ø n¬B ¿s°-¶nepwsImtdmW _m[-bp-≠m-bm¬{i≤n-t°≠ Imcy-

ß ƒG sXm-s°-bmW v?

What should we do if someone in family gets ill with COVID - 19?

(iv) B tcm-Ky-hn-Z-Kv[-cpsS\n¿t±-i-ß ƒA \p-k-cn-t°-≠-Xns‚B h-iy-IX F¥v?

Whyit is important to follow the guidelines to prevent transmission?

(v) Fß ns\CuA kpJw]S-cm-\p≈ km≤yX Hgn-hm°mw?

How can you avoid the risk of infection?

(b) ""]e-X-c-Ø n-ep≈ Im¥-ß ƒ (N-Xp-c-Ø nepw IpXn-c-em-S-Ø ns‚ B Ir-Xn-bn¬

D≈ Xpw)kwL-Sn-∏n-°p-I.A Xn-sem-∂ns\HcpI\wIpd™ kv̂SnI]mfn°v

Iogn-embnhbv°p-I.apI-fn¬Ccp-ºp-s]mSnXqhp-Ibpwkv̂Sn-I-]m-fnsbarZphmbn

X ṕ-IbpwsNøp-I.Ccp-ºp-s]mSnX\nsb\nh¿Ø n-°p∂ B IrXn{i≤n-°p-I.

F¥p-sIm-≠mW vIrXy-ambHcpL S\cq]-s∏-Sp-∂Xv?CXns‚Hcpt̂ mt́m-sb-

Sp-°p-ItbmtcJm-Nn{Xwhc-°p-ItbmsNøp-I.a‰p-X-c-Ø n-ep≈ Im¥-ß ƒD]-

tbm-Kn®v]co-£ W wXpS-cp-IbpwXmsg-sIm-Sp-Ø n-cn-°p∂ {]iv\-ß ƒ°vDØ cw

\¬Ip-IbpwsNøp-I.

Take some magnets of different shapes, such as bar magnets, house shoe magnets and
magnet. Keep one magnet, say a bar magnet under a thin glass sheet. Sprinkle some iron
fillings on the glass sheet while tapping it continuously. Observe the pattern in which iron
fillings align themselves. Do you finda definite pattern in the alignment of iron fillings? Take
a photograph of this pattern with your mobile phone or draw about 10-12 lines show the
pattern on a sheet of paper. Now repeat this experiment by using a horse shoe magnet and
disc magnet the followingquestion.

(i) Fhn-sS-bmW vIm¥nItcJ-IƒIqSp-X-embnD≈ Xv.

In which region are the magnetic lines crowded?

(ii) CutcJ-Iƒ]c-kv]cwIq́n-ap-́p-∂pt≠ m?

Do lines of forces intersect each other at any point?

(iii) F√m-Ø cwIm¥-ß ƒ°pwHtctcJmL S-\-bmtW m

Are the lines of force different on similar for all shapes of magnets?

(iv) CØ cwtcJm-L-S-\-Iƒèn-°m-\mbnthsdFs¥-¶nepwam¿§-apt≠ m?

Suggest same other method for observing/drawing the lines of forces.

uuu



kmaqlyimkv{Xw

Social Science

(213)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment

]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pw DØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given beside

the questions.

(ii) \nß -fpsSt]cvFt‚mƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page of the

answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬

DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) alm-ho-cs‚ G sX-¶nepw c≠ p{][m\ XXz-ß ƒ hni-I-e\w sNøp-I.A h

Fß s\h¿Ø -am-\-ImePohnX {]k-‡ -am-bn-cn-°p-∂p.\ΩpsS\nXy-Po-hnXw

A h{]mtbm-Ko-I-am-°p-hm≥Ign-bptam? (]mTw 1 ImW p-I)

Analyse any two cardinal principles of Mahavira. How they are relevant even today and

can be practised in your daily life. (See Lesson 1)

(b) q̀an-imkv{Xwa\- n-em-s°-bp≈ Ncn-{X-]-T-\-hpw,]pcm-hkvXpKth-jW taJ-

ebpwA ]q¿Æ-am-W v.Cu{]kvXm-h-\sbkm[q-I-cn-°p-I.(]mTw ...... ImW p-I)

The studyor HistoryandArchaeologyof area remains incompletewithout understanding of

the Geography." Justify the Statement. (See Lesson ........)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬

DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) ""̀uXoI sshhn-[y-ß -fpsSHcpcmPy-amW vC¥y''C¥y-bpsShS-°≥taJ-e-

bn¬ ÿ nXn-sN-øp∂ Hcpkwÿ m-\-Ø ns‚ ùXoIkhn-ti-j-XbpwXΩn¬

Xmc-XaywsNøp-I. (]mTw9 ImW p-I)

'India is a countryof Physical diversity'. Compare the physical features of a state situated in

northern region of India with a state of southern region. (See Lesson 9)



(b) cmPy-Ø ns‚a‰p-̀m-K-ß sfA t]-£ n®vcmP-ÿ m\vhfscIpd®pag-bmW vèn-

°p-∂-Xv.cmP-ÿ m\vhfscDb¿∂ A f-hn¬ agèn-®m¬ G Xp-X-c-Ø n-ep≈

A h-ÿ -bm-bn-cn-°pwkẁ -hn-°p-∂Xv? (]mTw10 ImW p-I)

Rajasthan receives less rainfall in comparison to other part of country. If Rajasthan has the
highest rainfall then what kind of situation mayoccure? (See Lesson 10)

3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬

DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) C¥y-bn¬ kzX-{¥hpw\oXn-]q¿∆-I-hp-amb sXc-s™ -Sp∏p\S-Ø p-∂-Xn-\m-h-

iy-ambc≠vsXc-s™ -Sp∏v]cn-jvI-c-W -ß ƒ\n¿t±-in-°p-I.(]mTw22 ImW p-I)

Mention two electoral reforms required urgently to conduct free and fair election in India
(See Lesson 22)

(b) Xt±i c̀W ÿ m]-\-ß -fn¬kv{Xokwh-c-W -Ø ns‚{][m\kzm[o-\-ß -fpsS

Hcp]́ nIXøm-dm-°p-I. (]mTw18 ImW p-I)

List out major impact of women reservation in the Local Governments.

(See Lesson 18)

4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°p-I

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) Nn≥,lm≥cmP-hwi c̀-W m-[n-Im-cn-IƒA h-cpsSkwkv°m-c-Ø ns‚hf¿®bv°p

\¬InG sX-¶nepwc≠ vkẁ m-h-\-IƒNq≠ n-°m-W n-°p-I.

(]mTw1 ImW p-I)

Identify any two contributions each of the Chin and the Han dynasty rulers of China who
helped to developed their civilisation (See Lesson 1)

(b) \nß fpsS{]tZ-isØ ùXoIL S-I-ß ƒP\-kw-Jy-bpsSkm{µ-X-bn-epw,hnX-

c-W -Ø nepwFß -s\-bmW vkzm[o-\n-°p-∂-Xv. (]mTw14 ImW p-I)

How physical factors found in your area have made impact on distribution and density of
Population? (See Lesson 14)

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm° p

Ifn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) s]mXp-P-\m-̀n-{]mb cq]o-I-c-W -Ø n¬ ]¶p-h-ln-°p∂ {][m\ G P≥kn-Isf

Is≠-Ø p-I. (]mTw22ImW p-I)

Identifymajor agencies that form our public opinion (See Lesson 22)

(b) C¥y-bn¬tZio-tbm-Zv{K-Y-\-Ø n\pXzcn-X-s∏-Sp-Ø p∂ {][m\\S-]-Sn-Iƒ{]kvXm-

hn-°pI. (]mTw24ImW p-I)

State various measures to promote national integration in India (See Lesson 24)



6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

(a) \nß -fpsSA b¬]°sØ A © p-Ip-Spw-_-ß -fn¬aq∂p-X-e-ap-d-I-fpsShnZym-̀ymk

sXmgn¬\ne-hm-c-Ø ns‚hnh-c-ß ƒtiJ-cn-°pI(\n-ß -fpsSIpSpw_wDƒs∏sS)

Collect the data of the level of education and occupation in three generation of the five
families in yourneighbourhood includingyour familyin the given table.

Xe-apd
generation

hnZym-̀ymk\ne-hmcw
Level of education

sXmgn¬
Occupation

B Zyw
apØ -—≥/Grand Father

First apØ -»n/Grand Mother

c≠ m-a-tØ Xv]nXmhv/Father

Second amXmhv/Mother

aq∂m-a-tØ XvIṕn/Child -1

Third Iṕn/Child -2

On the basis of information collected, prepared a short note on the level of education the
changes brought byeducation in these occupation and levels of life

(b) Undertake a project listing out the major changes brought by 73rd constitutional
AmendmentAct 1992 (for those living in rural area) or 74thconstitutionalAmendmentAct,
1992 (for those living in Urban area). What conclusion do you draw on the basis of the
above work, also try to reflect on thefollowing issues.

(i) impact onWoman representation.

(ii) Impact an scheduled Caste (SCS) and Scheduled Tribes (SCS) representation

(See Lesson - 18)
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kmº-Ø nI imkv{Xw

ECONOMICS

(214)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment
]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ° pw DØ -c-sa-gp-tX-≠ -Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) \nß -fpsSt]cvF≥tdmƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page

of the answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) kmº-Ø n-I-imkv{Xwhnim-e-ambHcphnj-b-am-W v.kmº-Ø nIimkv{X-Ø n\v

IrXy-ambHcp\n¿∆-N\wsImSp-°pIA {X Ffp-∏-a-√.kmº-Ø nIimkv{XsØ

Hcpkmaq-ly-t£ aimkv{X-sa∂pwkº-Ø ns\∏‰n-bp≈ imkv{X-sa∂pw\n¿∆-

Nn-°mw. (]mTw 1 ImW p-I)

Economics is a vast subject and it is not easy to give a precise definition of economics.You

have to define economics as science of welfare and science of wealth. (See Lesson 1)

(b) HcpDev]m-ZI≥Dev]m-Z-\-®n-ehv]c-am-h[nIpd-bv°m\pw]c-am-h[nem̀-ap-≠m-

°m\pw{ian-°p-∂p.sNe-hv,hcp-am-\w,Dev]mZ-Is‚em̀wF∂o]Z-ß sfhni-

Zo-I-cn-°p-I. (]mTw 8ImW p-I)

"Anyproducer wants to earn maximum profit and minimize cost ofproduction. Explain the

concept of cost, revenue and profit for the producer." (See Lesson 8)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) Zu¿e-̀yhpw Xnc-s™ -Sp∏pw Hcp-an®vt]mIp-∂p.hǹ-h-ß -fpsS Zu¿e-̀y-amW v

Xncs™ -Sp-∏n\pImc-W -am-Ip-∂-Xv.Zu¿e-̀y-sØ bpwXnc-s™ -Sp-∏n-t\bpw]‰n

DZmlcW klnXwhni-Zo-I-cn-°p-I. (]mTw5 ImW p-I)

Scarcity and choice go hand in hand. In fact issue of choice arises because resources are
scarce. Explain the issue of scarcityand choice with the help of an example.

(See Lesson 13)



2

(b) a\p-jys‚ B h-iy-ß ƒ \nd-th-‰m≥km[-\-ß ƒ°pwtkh-\-ß ƒ°pwXpey

{]m[m-\y-am-W p-≈-Xv.Cukm[-\-ß fpw tkh-\-ß fpw \ΩpsS B h-iyß sf-

t∏mse\nc-h-[n-bm-W v.Cu{]kvXm-h-\-bpsSshfn-®-Ø n¬km[-\-ß -fp-tSbpw

tkh-\-ß -fp-tSbpwkhn-ti-j-X-Iƒhni-Z-am-°p-I. (]mTw3 ImW p-I)

"Goods and services both are equally important for satisfaction of human wants and these
goods and services are as diverse as our wants." In the light of this statement explain the
features of goods and services. (See Lesson 3)

3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) \ΩpsSB h-iy-ß ƒ\nc-h-[nbpwA h\nd-th-‰m-\p≈ hǹ-h-ß ƒ]cn-an-X-hp-am-

sW ∂v\ap-°-dn-bmw.ta¬{]kvXm-h-\-bpsSshfn-®-Ø n¬]cn-an-X-ambB h-iy-

ß -fpsSC¥y≥XXz-im-kv{XsØ hni-Z-am-°p-I. (]mTw2 ImW p-I)

As we all know our wants are unlimited but our resources to satisfy these wants are limited.
In the lightof the given statement explain the Indian Philosophyof limitingwants.

(See Lesson 6)

(b) Dev]-∂-ß -fn-te-°p≈ \nth-i-ß -fpsScq]m-¥-co-I-c-W -sa∂vDev]m-Z-\sØ \n¿∆-

Nn-°m-sa-¶n¬ Dev]m-Z\kmt¶-Xn-I-hn-Zy-bpsSt]cp-Iƒ]d-bpI.

(]mTw7 ImW p-I)

If production is defined as transformation of inputs into outputs then how would you
describe production function.Also name two major technologies of production.

(See Lesson 7)

4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°pI

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) samØ wDev]-∂w,icm-icnDev]-∂w,koam¥ Dev]∂wF∂o]Z-ß ƒXΩn¬

_‘-ap-≠v.kwJymkw_-‘-ambDZm-l-W -Ø ns‚klm-b-Ø m¬ A h-bpsS

_‘ whni-Z-am-°p-I. (]mTw7ImW p-I)

Total Production,Average Production and Marginal Production are related to each other.
Explain their relationship with the help ofa numerical example (See Lesson 7)

(b) kº-Zvhy-h-ÿ -Isfhnhn[A Sn-ÿ m-\-Ø n¬ Xcw-Xn-cn-°p-∂p.hnI-k-\-amW vHc-

Sn-ÿ m-\w.hnI-k-\-Ø ns‚A Sn-ÿ m-\-Ø n¬A \p-tbm-Py-ambDZm-l-cW klnXw

kºZvhyh-ÿ -IsfXcwXncn-°p-I. (]mTw4 ImW p-I)

Economics can be classified on different basis. One of such bases 'Development'. Explain
the typesof economics on the basis of development citing relevant examples of each type of
economy. (See Lesson 4)

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm° p

Ifn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.
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(a) ""kº-Zvhy-hÿ a\p-jy-\n¿Ωn-X-amb Hcphyh-ÿ n-Xn-bm-W v.A hsb \n¿Ωn-

°m\pw\in∏n°m\pwkaq-l-Ø ns‚ B h-iy-a-\p-k-cn®vam‰whcp-Ø p-hm\pw

km[n-°pw.''ta¬∏-d™ {]kvXm-h-\-bpsSshfn-®-Ø n¬apX-em-fnØ hyh-ÿ nXn,

tkmjy-enÃvhyh-ÿ n-Xn,an{i-hy-h-ÿ nXnF∂nhhni-Z-am-°p-I.C¥yG Xp-

X-c-Ø n-ep≈ kº-Zvhy-h-ÿ -bmW v? (]mTw4ImW p-I)

"Economy is a man-made organization which is created, destroyed or changed as per the
requirement of the society". In the light of this statement explain the capitalist, socialist and

mixed economy. Which type of economyIndia is? (See Lesson 4)

(b) kzX{¥ tIm¿∏-td-j-\p-IfpwKḧ sa‚vIº-\n-Ifpw (]mTw7ImW p-I)

Distinguish between autonomous corporation and government companies.

(See Lesson 7)

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

a) samØ hcp-am-\-Ø n¬\n∂pwDev]m-Z-\-®n-ehvIpd-®m¬em̀wIńp-sa∂v\ap-°-

dnbmwA Yhmem̀w=samØ -h-cp-am\w s̨amØ sNe-hv.HcpDev]m-Z-Is‚8

amksØ Dev]m-Z\wF{X-sb∂vI≠-Xn\vtijw,icm-icnhcp-am\w25cq]-bm-

sW ∂vhnNm-cn®vsamØ hcp-am-\hpw HmtcmamksØ koam¥ hcp-am-\hpw

I≠p-]n-Sn-°p-I.A Xn-\p-tijw{]Xn-amkem̀wF{X-sb∂vI≠p-]-Sn-°p-I.]́ nI

cq]-Ø n¬\nß -fpsSIW °vXøm-dm-°p-I. (]mTw8ImW p-I)

We know that profitis the surplus of revenue over the total cost of production and is calcu-
lated usingthe followingexpression Profit =Total Revenue -Total Cost.You have to collect
the monthly cost for eight months production figure of a manufacturer and then his total
revenue and marginal revenue corresponding to each monthly figure assuming that average
revenue is Rs.25. Thereafter you will have to calculate his monthlyprofit. Show your calcu-
lation in a tabular manner. (See Lesson 8)

(b) HcpDev]m-Z-Is‚ Dev]m-Z-\sØ kw_-‘ n-®p≈ Hcp]́ nI Xmsg-sIm-Sp-Ø n-cn-

°p∂p.

You have been provided with the following table by a producer.

apI-fn-ep≈ ]́ nI]q¿Ø n-bm-°m≥Dev]m-Z-I\v\nß -fpsSklmbwB h-iy-am-

W v.F{X sXmgn-em-fn-Isf\ntbm-Kn-®m¬]c-am-h[nDev]m-Z\wt\Sp-hm≥km[n-

°p-sa∂vXocp-am-\n-°p-I. (]mTw7ImW p-I)

The producer needs your help in completing the above table and decide how manyunits of

labour be employed to optimize the level of output. (See Lesson 7)

uuu

sXmgn-em-fn-I-fpsSFÆ w

Units of labour
samØ Dev]∂w

Total Product

koam¥ Dev]∂w

Marginal Product
icm-icnDev]∂w

Average Product

0 0

1 5

2 12

3 21

4 28

5 30

6 30

7 28
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_nkn-\ vÃUokv

BUSINESS STUDIES

(215)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment
]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ° pw DØ -c-sa-gp-tX-≠ -Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) \nß -fpsSt]cvF≥tdmƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page

of the answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) D¬∏-∂-ß -fpsShn¬]-\-bn¬ ]ckywhfsc ê-{]-Z-ambHcpklm-b-am-W v.

Fß ns\? (]mTw 2 ImW p-I)

Advertising is an effective aid in selling the goods. How? (See Lesson 2)

(b) kmº-Ø nI{]h¿Ø -\-ß ƒF∂m¬F¥mW v?kmº-Ø nI{]h¿Ø -\-ß -fpsS

c≠ vDZm-l-c-W -ß ƒ\¬Ip-I. (]mTw 8ImW p-I)

What do you understand byeconomic activities. Give two examples of economic activities.

(See Lesson 8)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) G ImwKhym]mckwL -S-\m-cq]w_nkn-\- n¬anI®\nb-{¥W wkm[y-am-°p-

∂-sX-ß n-s\-sb∂vhni-Zo-I-cn-°p-I. (]mTw3 ImW p-I)

Describe how sole proprietorship facilities better control in business. (See Lesson 3)

(b) Dev]m-ZIkl-I-cW kwL-ß ƒF∂ B ibwHcpDZm-l-cW klnXwhy‡ -

am-°p-I. (]mTw4 ImW p-I)

Explain the concept of Producers Co-operative Societies with the help of an example.
(See Lesson 4)
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3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) _nkn-\- n¬em̀-Ø n-ep≈ \„-km-[y-XbpwA \n-› n-X-Xzhpw\ne-\n¬°p-∂p.

hni-Zo-I-cn-°p-I. (]mTw1 ImW p-I)

Business involves risk and uncertaintyof income. Explain. (See Lesson 1)

(b) KXm-KXwIpd™ Nne-hn¬h≥tXm-Xn-ep≈ DXv]m-Z-\sØ klm-bn-°p-∂p.Fß n-

s\-sb∂vhni-Z-am-°p-I. (]mTw5 ImW p-I)

How transport facilitates large - scale production at low costs? (See Lesson 5)

4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°pI

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) CXchym]mckwL -S\mcq]-ß -fn¬ \n∂pwhyXy-kvX-amb HcpkwL -S\m

cq]-amW vkl-I-cW kwL w.Cu{]kvXm-h-\-bpsSA Sn-ÿ m-\-Ø n¬kl-I-

cW kwL-Ø ns‚khn-ti-j-X-Iƒhni-Zo-I-cn-°p-I. (]mTw4ImW p-I)

A Co-operative society is a special type of business organization different from other forms
of business organization. In the light of the statement discuss the characteristics of
co-operative society. (See Lesson 4)

(b) t_m≠ Uvkẁ -c-W -im-ebpwkl-I-cW kẁ -cW imebpwXΩn-ep≈ hn\ym-k-

ß ƒFgp-Xp-I. (]mTw6 ImW p-I)

Distinguish between a Bonded and a Co-operative warehouse. (See Lesson 6)

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm° p

Ifn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) C -̨tIm-ta-gvkns‚hnhn[Xc-ß -sf-°p-dn®vhni-Zo-I-cn-°p-I.(]mTw2ImW p-I)

Explain the classification of different types of e-commerce? (See Lesson 2)

(b) F√mXc-Ø n-ep-ap≈ hym]mckwL-S\mcq]-ß -fp-tSbpwDS-a-ÿ XmL S-I-Ø n¬

\yq\-X-I-fp-≠v.G ImwKhym]m-c-Ø nepw\ap°vCXvImW mw.G ImwKhym]m-c-

Ø ns‚\yq\-X-IƒFs¥-√m-sa∂vhni-Zo-I-cn-°p-I. (]mTw3ImW p-I)

All types of ownership have some limitations and the sole proprietorship is no exception.

Discuss the various limitations of sole proprietorship (See Lesson 3)

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

a) \nß -fpsSHcpkplr-Ø n\pwA t±-l-Ø ns‚Hcpkplr-Ø p-ambnB ibhn\n-

abw\S-Ø p-∂-Xn¬_p≤n-aṕvt\cn-Sp-I-bm-W v.kplr-Ø n-t\mSv̂ e-{]-Z-ambB ib

hn\n-a-b-X-‡ n¬ IS-∂p-h-cm-hp∂ XS- -ß ƒ Fs¥√msa∂pw A hFß ns\

]cn-l-cn-°m-sa∂pwhni-Zo-I-cn-°p-I. (]mTw7ImW p-I)



3

You friend is facing a difficulty in establishing an effective communication with his friend.
Explain him what could be the barriers of effective communication.Also guidehim to solve
such barriers. (See Lesson 7)

(b) A ¶n‰v̀mcwIpd™ (sN-dp-In-S)km[-\-ß -fpsS Hcp_nkn-\ vXpS-ß p-hm≥

B {K-ln-°p-∂p.cmPy-Ø ns‚ hnhn[ m̀K-ß -fn-te°vkm[-\-ß ƒ hnX-cW w

sNø-W w.A ¶n-‰n\vG ‰hpwA \p-tbm-Py-ambKXm-KX am¿§wG sX∂vA Xns‚

KpW -ß fpwtZmj-ß fpwhy‡ -am°nhni-Zo-I-cn-°p-I. (]mTw6ImW p-I)

Ankit is interested in running a business of light goods. He wants to supply goods to
different parts of the country. Suggest himthe most suitable mode of transport mentioning its
advantages and limitations. (See Lesson 6)

uuu



C¥y≥ kwkvIm-chpw ss]Xr-Ihpw

Indian Culture and Heritage

(223)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment

]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pw DØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given beside

the questions.

(ii) \nß -fpsSt]cvFt‚mƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page of the

answer sheet.

1. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬

DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) kwkv°m-c-hpw,\mK-co-I-Xbpw XΩn-ep≈ G sX-¶nepw c≠ vkmZr-iy-ß ƒ

]cn-tim-[n-°pI (]mTw 1 ImW p-I)

Examineanytwosimilaritiesofcultureand civilization (See Lesson 1)

(b) C¥y≥kwkvIm-c-Ø n¬ B flo-b-X-bv°p≈ G sX-¶nepwc≠ vkhn-ti-j-X-X-

IƒIs≠-Ø p-I. (]mTw 2 ImW p-I)

Identify two features that show the importance of spirituality in India Culture

(See Lesson 2)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬

DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) \K-cw,{ZmhnU t£ {X ssien-IƒXΩn-ep≈ hyXymkwhy‡ -am-°p-I.

(]mTw3,ImW p-I)

Differentiate between Nagara and Dravida style of temple. (See Lesson 3)

(b) C…m-ans‚\mevA Sn-ÿ m\{]am-W -ß -fpsS]́ nIXøm-dm-°pI

(]mTw4 ImW p-I)

List four fundamentalPrinciples of Islam (See Lesson 4)



3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬

DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) kwkvIm-c-Ø ns‚ ùXo-tI-Xckz̀mhwhymJym-\n-°p-I. (]mTw2 ImW p-I)

Interpret the non-material aspects of culture (See Lesson 2)

(b) "kwkvImcwam‰-ß ƒ°phnt[-b-am-W v.F∂m¬ ss]XrIwA ß -s\-b√'F∂

{]kvXm-h\km[q-I-cn-°p-I. (]mTw2 ImW p-I)

Justify the statement that cultural is liable to change but heritage does not.

(See Lesson 2)

4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°p-I

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) "kq̂ n{]ÿ m-\hpwi‡ n{]ÿ m-\hpwHtc\mW -b-Ø ns‚c≠ p-ap-J-ß -fmW v.'

{]kvXm-h\km[q-I-cn-°p-I.

(]mTw4 ImW p-I)

'Sufi and Shakti movement were the two faces of the same coin.' Justify the statement.
(See Lesson 4)

(b) \nß fpsSapØ -»-∑m¿A \p-̀-hn-®n-cp-∂Xpw\nß ƒ]n¥p-S-cp-∂-Xp-ambG sX-

¶nepw\mevkam\kmwkvIm-cnIPohn-X-coXnIs≠-Ø pI.(]mTw1 ImW p-I)

Identifyanyfour similar cultural ways of life which were enjoyed byyour grand parents and
also followed byyou. (See Lesson 1)

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°p-I

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) Ccp-ºns‚hym]-I-ambD]-tbmKwB cy-∑m-cpsS ùXoIPohn-X-Ø n¬ henb

am‰-ß ƒsIm≠ p-h-∂p.hni-Zo-I-cn-°p-I. (]mTw3ImW p-I)

The extensive use of iron brought great changes in the material life of theAryans.Analyse.

(See Lesson 3)

(b) ]ucm-W nI m̀cXwssP\_p≤ aX-ß -sf-t∏m-se-bp≈ c≠ val-Zvam-\-ß -fpsS

Db¿®bv°vkm£ ywhl n-°p-I-bpw,C¥y≥kwkvIm-c-Ø n¬henbtXmXn¬

kzm[o-\n-°p-IbpwsNbvXp.]cn-tim-[n-°p-I. (]mTw3ImW p-I)

Ancient India saw the rise of two very important religions like Jainism and Buddhism which

left a lasting influence on Indian life and culture.Analyse. (See Lesson 3)

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

(a) a[y-Im-e-L -́-Ø n¬c≠ p]pXnbaX-hn-izm-k-ß ƒC¥y-bn¬{]N-cn-®p.kn°p-

a-X-hpw,skcm-jv{So-bm-\n-k-hpw.CuaX-ß ƒ\ΩpsSkaq-l sØ kzm[o-\n-®n-



ṕ≠ v.CXva\- n¬kq£ n-®p-sIm-≠v,Cuc≠p-a-X-ß -fpsS\mepXXz-ß ƒDƒs°m-

≈p∂ Hcpdnt∏m¿́vXøm-dm-°p-I.Cuc≠ paX-ß -fpsS{][m\tI{µ-ß -fpsS

HcpenÃvXøm-dm-°p-I. (]mTw4ImW p-I)

During the medieval period two new religious faiths flourished in India: i.e.Sikhism and
Zoroastrianism. These religion have influenced our society. Keeping this in mind, make a
report containing at least 4 teachings of those religion. Listand write about their important

religious place or places. (See Lesson 4)

(b) \nß -fpsS{]tZ-iØ v{]h¿Ø n-°p∂ aq∂p{][m\kmaqly{]ÿ m-\-ß -fpsS

HcpenÃvXøm-dm-°p-I.Cu{]ÿ m-\-ß -fpsSe£ y-ß -fpw,{]h¿Ø -\-ß fpw

Dƒs°m-≈p∂ Hcp]́ nIXmsg-sIm-Sp-Ø n-cn-°p∂ amXr-I-bn¬Xøm-dm-°p-I.G Xp

kwL -S-\-bn-emW v\nß ƒtNcm≥CjvS-s∏-Sp-∂Xv?F¥p-sIm≠v?

Prepare a list of three social organisation working in your area. Find out the main objectives
and functions of each organisation and make a table as below. Which organization will you
like to join and why?

{I.-\-º¿

S.No

kwL -S-\-bpsS t]cv

Name of the organisation

{][m\ Dt±-iy-ß ƒ

Main objectives

{]h¿Ø -\-ß ƒ

Function

Xe-apd

S

hnZym-̀ymk\ne-hmcw

S

sXmgn¬

S

apØ -»≥

S

apØ »n

S

]nXmhv

S

amXmhv

S

Iṕn̨ 1

S

Iṕn̨ 2

S



tiJ-cn-°p-IbpwXøm-dm-°p-IbpwsNbvX hnh-c-ß -fp-t#ms#A Sn-ÿ m-\-Ø n¬hnZym-

ỳmk\ne-hm-c-sØ bpw,hnZym-̀ymkwsXmgn-enepwPohnX \ne-hm-c-Ø nepwhcp-Ø nb

am‰-ß -sfbpwIpdn®vHcpeL pIpdn∏vXøm-dm-°p-I.

(b) 1992 s̨e73̨mw c̀-W -L-S\mt̀Z-KXn({Km-aoW taJ-e-bn¬ Xma-kn-°p-∂-h¿°p-

th-≠ n)A s√-¶n¬1992 s̨e74̨mw c̀-W -L-S\mt̀ Z-KXn(\-K-c-hm-kn-Iƒ°p-th-

≠ n)hcp-Ø nbam‰-ß -sf-°p-dn®vHcpt{]mPIvSvXøm-dm-°p-I.\nß ƒ\S-Ø nb

Cut{]mP-IvSns‚A Sn-ÿ m-\-Ø n¬ F¥p\nK-a-\-Ø n¬ \nß ƒ°vFØ n-t®-

cmw.H∏w Xmsg\¬In-bn-́p≈ {]iv\-ß ƒ {]Xn-̂-en-∏n-°p-hm≥ {ian-°pI

(]mTw˛18)

(i) kv{Xo{]mXn-\n-[y-Ø n-t∑-ep≈ kzm[o-\w.

(ii) ]́ nIPmXn,]́ nIh¿§-ß -fpsStaep≈ kzm[o\w (]mTw˛18)



A ° u-≠ ≥-kn

Accountancy

(224)

Syq-́¿am¿-°vv-UvvA -ssk≥-sa‚v

Tutor Marked Assignment

B-sI amÀ¡v : 20

Max.Marks : 20

Ipdn-∏v: (i) F√mtNm-Zy-ß ƒ° pw\n¿-_-‘-ambpwDØ -cwF-gp-XpI.HmtcmtNm-Zy-ß -fp-

sSbpwam¿-°p-Iƒ A -Xm-Xn-s‚h-i-ß -fn¬ \¬-In-bn-cn° p∂p.

Note : All questions are compulsory. The Marks allotted for each question are given
beside the questions.

(ii) \n-ß -fp-sSt]-cv,F≥tdmƒ-sa‚v\-º¿A Is\-bnw,k-_v-sP-Iv-‰vF∂n-hDØ c-
I-S-em-kn-s‚ B -Zyt]-Pn¬ am{Xwtc-J-s∏-bp-Ø p-I.

Write your name,enrollment numbers,AI name and subject on the first page
of the answer sheet.

1. XmsgsIm-Sp-Ø n-cn-°p∂ tNm-Zy-ß -fn¬ G -sX-¶nepw H-∂n-\v40̨60hm-°p-I-fn¬

DØ csagpXp-I.

Answer any one of the following questions in about 40-60 words.

(a) A °u≠ nwKvA dn-hp-Iƒ s]ms ≥́jy¬ \nt£ -]-I¿°pw D]-t̀ m-‡ m-°ƒ°pw
D]-Imc{]Z-am-W v.Fß s\? (]mTw1ImW p-I)

Accounting information is useful to potential investors and customers. How?

(See Lesson 1)

(b) _mly_m[y-X-Iƒ F∂m¬ F¥mW v?_mly-_m-[y-X-bpsS c≠ vDZm-l-cW w
Fgp-Xp-I. (]mTw3ImW p-I)

What do you understand by External Liabilities. Give two examples of External
Liabilities. (See Lesson 3)

2. XmsgsIm-Sp-Ø n-cn-° p∂ tNm-Zy-ß -fn¬ G -sX-¶nepw H-∂n-\v40̨60hm-° p-I-fn¬

DØ csagpXpI. 2

Answer any one of the 3following questions in about 40-60 words.

(a) Uyph¬B kvs]IvSvI¨ sk]v‰v(Zzn-L-SIB i-bw)G sX∂vHcpDZm-l-cW klnXw
hnh-cn-°p-I. (]mTw2ImW p-I)

Explain the Dual aspect concept with the help of an example. (See Lesson 2)

(b) n̂\m≥jy¬A °u-≠ nwKvkmº-Ø n-tI-Xchnh-c-ß ƒDƒs°m-≈p-∂n-√.hnh-cn-°pI.

(]mTw1ImW p-I)

Financial accounding ignoers non - monetary information. Explain. (See Lesson 1)



3. XmsgsIm-Sp-Ø n-cn-°p∂ tNm-Zy-ß -fn¬ G -sX-¶nepw H-∂n-\v40̨60hm-°p-I-fn¬

DØ csagpXp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) ]Xy£ B kvXnbpw]tcm£ B kvXnbpwFs¥∂vNpcp-ß nbhm°p-I-fn¬hni-Zo-

I-cn-°p-I. (]mTw3ImW p-I)

Write short notes on tangible and intangible assets. (See Lesson 3)

(b) XmsgX∂n-cn-°p-∂-h-bpsSA °u-≠ nwKvdqƒkvFgp-Xp-I. (]mTw4ImW p-I)

Write down the rules for accounting equation for the following: (See Lesson 4)

(i) aqe-[\-\w

Capital

(ii) B kvXn-Iƒ

Assets

4. XmsgsIm-Sp-Ø n-cn-° p∂ tNm-Zy-ß -fn¬ G -sX-¶nepw H-∂n-\v100-̨150hm-°p-I-fn¬

DØ csagpXp-I. 4

Answer any one of the following questions in about 100-150 words.

(a) \nß -fpsS kpl r-Ø n\vHcptPW ¬ Xøm-dm-t°-≠-Xns‚ B h-iy-ap-≠ v.Hcp
kplr-sØ ∂ \ne-bn¬ HcptPW ¬ Xøm-dm-°p∂ hn[whni-Zo-I-cn-°p-I.

(]mTw6ImW pI)

Your friend wants to prepare a journal. As a good friend, explain to him the process of
journalising. (See Lesson 6)

(b) I¨ sh≥j≥Hm̂ vI¨k¿th-‰nkwF∂ A °u-≠ nwKvB i-b-Ø ns‚A ¿∞ hpw
{]m[m-\yhpwhni-Z-am-°p-I. (]mTw2ImW p-I)

Explain the meaning and significance of Convention of Conservatism. (See Lesson 2)

5. XmsgsIm-Sp-Ø n-cn-° p∂ tNm-Zy-ß -fn¬ G -sX-¶nepw H-∂n-\v100-̨150hm-°p-I-fn¬

DØ csagpXp-I. 4

Answer any one of the following questions in about 100-150 words.

(a) XmsgsImSp-Ø n-cn°p∂ A °u-≠ nwKvCS-]m-Sp-I-fpsS A °u-≠ nwKvka-hmIyw

Xøm-dm-°p-I. (]mTw4ImW p-I)

Prepare Accounting Equation on the basis of the following: (See Lesson 4)

(i) A ¶n‰v1,80,000cq]-bp-ambn_nkn-\ vB cw-̀n-®p.

Ankit started business with cash Rs. 1,80,000.

(ii) A h≥ 20,000cq]bv°v̂ ¿W o-®¿hmß n-®p.

He purchased furniture for cash Rs. 20,000.

(iii) A h≥ 25,000cq]-bpsSkm[-\-ß ƒhmbv]-bmbnhmß n.

He purchased goods on credit Rs. 25,000.

(iv) A h≥18,000cq]hne-bp≈ km[-\-ß ƒ 40,000cq]bv°vhn‰p.

He sold goods costing Rs. 18,000 for Rs. 40,000 for cash.



(b) A °u-≠ nw-Kns‚]pcm-X-\-ambXcwXncn-°¬ G sXm-s°-sb∂vhni-Zo-I-cn-°p-I.
(]mTw5ImW p-I)

Explain the traditional classification of different types of Accounts.

6. XmsgsImSp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcps{]mPIvSvXøm-dm-°p-I.

Prepare any one project out of the given below.

(a) Pn.sI.Iw]yq-t́gvkv,kuØ vFIvkv,\yqU¬l nF∂ ÿ m]-\-Ø ns‚ s{IU n‰v

hut®-gvkn¬ \n∂pwXøm-dm-°p-I. (]mTw5ImW p-I)

Prepare Credit Vouchers from the source vouchers of M/s G.K. Computers, South Ex,
New Delhi based on the following transactions:

2020G {]n¬ 4s]≥ss{U-hp-IƒIymjvsatΩm\º¿10{]Imcw55,000cq]bv°v

hn‰p

2020 April 4 Sold pen drives for cash vide Cash Memo No. 10 - Rs. 55,000

G {]n¬15.]gbIw]yq-́¿tam\n-‰¿IymjvsatΩm\º¿39{]Imcw19,000cq]bv°v

hn‰p.

April 15 Sold old computer Monitor for cash vide cash Memo No. 39 - Rs. 19,000

G {]n¬ 30,sN°v\º¿500417hgnHm̂ okvB h-iy-Ø n-\mbn_m¶n¬ \n∂v15000

cq]]n≥h-en-®p.

Arpil 30 Withdrawn cash from Bank for office use vide cheque No. 500417 -
Rs. 15,000

(b) \nß -fpsSkao-]-Ø p≈ G sX-¶nepwtjm∏vkµ¿in®vA h-cpsS10_nkn-\ vCS]m-
Sp-Iƒa\- n-em°nHcpt]Pn¬ tPW ¬ B bnFgp-Xp-I. (]mTw6ImW p-I)

Visit any nearby shop and observe their 10 business transactions and record them on
a page as journal. (See Lesson 6)

u u u



1

Nn{X-Ie

Painting

(225)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment

]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ° pw DØ -c-sa-gp-tX-≠ -Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) \nß -fpsSt]cvFt‚mƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page

of the answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) A arX sj¿Kn-ens‚{]i-kvX-ambNn{Xw]Tn®vCcn-°p∂ \meva\p-jy-cq-]-ß -

fpsS L S\ Xøm-dm°nA arX sj¿Knƒ D]-tbm-Kn-®-Xp-t]m-ep≈ h¿Æ

s]mcpØ wD]-tbm-Kn®vNn{Xwhc-°pI (]mTw 8 ImW p-I)

Studythe famous painting 'Bramacharies' ofAmrita Shergil. Make a composition with four
seated figures and use the colour combinations of theAmrita Shergil painting

(See Lesson 8)

(b) Nn{X-Im-c≥A KkvsX hc®HcpNn{XsØ Ipdn®vFgp-Xp-I.F¥vktµ-i-amW v

CXn¬ Ct±l w\¬Im≥{ian-®n-cn-°p-∂Xv? (]mTw 6ImW p-I)

Write one art work done byArtistAnguste. What massage is he trying to give?

(See Lesson 6)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) {]i-kvX-ambA P¥mNn{Xw"ªm°v{]n≥kkv's\°p-dn®vhfsc{i≤-tbmsS

]Tn-°p-I.A Xn-\p-tijw{]hrØ nklmb]pkvXIwFSp-°p-I.t]Pv\º¿33

¬[mcmfwa\p-jy-cq-]-ß -fpsSNn{X-ß ƒImW mw."ªm°v{]n≥kkvs‚apJ-hp-

ambna‰paqe-I-ß ƒ°p≈ khn-ti-j-X-Iƒhnh-cn-°m≥{ian-°p-I.

(]mTw1 ImW p-I)



2

StudyCarefullythe famousAjanta Painting 'Black Princess. Now take your practical Guide
book. There are many drawings of human faces on page 33. Try to give the features of the

face of Black Princess to these faces. (See Lesson 1)

(b) "sU Kmkv's‚Nn{X-Ø nse{][m\\mevkhn-ti-j-X-IƒFgp-XpI

(]mTw6 ImW p-I)

Write the four main features of Degas Painting. (See Lesson 6)

3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) Fs¥ms° A e-¶m-c-ß -fmW v"tImew'Nn{X-Ø n¬D]-tbm-Kn-®n-cn-°p-∂Xv?tImew

Nn{X-c-N-\-bpsScoXnhni-Zo-I-cn-°p-I. (]mTw4 ImW p-I)

What are the motifs used in Kolam painting. Explain the method of Kolam painting.

(See Lesson 4)

(b) Nn{X-Im-c≥dw{_m≥Uns‚{]i-kvX-amb"ss\‰vhm®v'F∂ Nn{X-Ø ns‚cN-\m-

coXn]n≥Xp-S¿∂vCXnseCcn-°p∂ m̀h-Ø ns‚ico-c-L-S\]I¿Ø p-I.CuNn{X-

sØ -°p-dn-®p≈ HcpB kzm-Z\wIpd-®p-h-cn-I-fn¬Fgp-Xp-I.(]mTw5 ImW p-I)

Follow the format of the famous painting 'The Night Watch' by Artist Rambrandt and
capture the anatomyof the sittingposture in this painting.Write few lines of appreciation on
this work. (See Lesson 5)

4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°pI

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) Npa¿Nn{X-IeF∂m¬F¥v?lnµǹhs‚Npa-cn¬hc-®n-cn-°p∂ Nn{X-Ø ns‚

s{̂ kvtIm_yqt\m'kmt¶-Xn-I-X-sb-°p-dn®vhni-Zo-I-cn-°pI(]mTw9 ImW p-I)

What is Mural painting? Explain the Mural painted on the wall of Hindi Bhavan in Fresco
Buono technique. (See Lesson 9)

(b) "hḿ¿en√okv'F∂ Xs‚cN-\-bn¬ Nn{X-Im-c≥tam\‰vF¥n-\mW vDu∂¬

\¬In-bn-cn-°p-∂Xv?Ipd-™ Xv5apX¬ thsdhcn-I-fn¬ DØ cwFgp-XpI

(]mTw6 ImW p-I)

What did artist Monet focused in his painting 'Waterlilies' write atleast 5 to 6 sentences?
(See Lesson 6)

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm° p

Ifn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) Hdo- -bnse]pcn-bpsSIng-°≥Xoc-Ø n¬KwKmcmP-hw-i-Ø ns‚B Zy-cm-Pmhv

\c-knw-l-tZh≥1\n¿Ωn®HcpIem-kr„nFgp-Xp-I.CXn-s\-°p-dn®vHcpB kzm-

Z-\-°p-dn∏vFgp-Xp-I. (]mTw2ImW p-I)

Write one art built by king Narsemhadeva 1 of the Ganga dynasty in the eastern coast of

Puri in Orissa. Write an appreciation note of the same (See Lesson 2)



3

(b) ka-Im-eo\ m̀c-XobNn{X-I-e-bpsShnIm-k-Ø n\vXpS-°-°m-cmbG sX-¶nepw

\mevIem-Im-c-∑m-sc-°p-dn-®pw,Iem-tem-IØ vA h¿\¬Inbkẁ m-h-\-I-sf-°p-

dn®pwFgp-Xp-I. (]mTw9ImW p-I)

Write four Pioneers of Contemporary IndianArt and their contribution of the area ofArt.

(See Lesson 9)

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

(a) Hcpka-N-Xp-c-t_m-Ivkv,HcpDcp≠ t_mƒ,knen-≠-dn-°¬ B ImcwF∂nh

tiJ-cn-°p-I.Hcps]≥kn¬ D]-tbm-Kn®vt]∏-dns‚{]tXyIjo‰p-I-fn¬ Cu

cq]-ß ƒ]Tn®vhc-°p-I.A4hep∏ap≈ t]∏-dn¬]c-kv]cwHmh¿em]vsNøp∂
Pman-Xobcq]-ß ƒhc-°p-I.Iyq_nÃvIe-bpsSA Sn-ÿ m\coXn-bm-W n-Xv.A ß -

s\,\nß ƒCuB Ir-Xn-IƒD]-tbm-Kn®v"Iyq_n-kw-Ie'kr„n-®p.Nn{X-Iem

_p°n¬ èy-amb]n°m-t m-bpsSkr„n-I-fn¬\n∂vCXn-\p-th≠ {]tNm-Z\w

Dƒs°m-≈p-I. (]mTw7ImW p-I)

Collect a square box a round ball and a cylindrical shape, all almost equal size. Study and
draw these forms on seperate sheets of paper with a pencil. Now compose the geometrical
shapes on anA4 size paper over lapping each other. This is the basic method of Cubist art.
Thus you have created the art of Cubism with these shapes.You can take inspiration from
works of Picasso that are available in art books. (See Lesson 7)

(b) Hcptai,s]≥kn¬,̂ vfh¿thkv,s]≥kn¬ t_mIvkv,]pkvXIwXpS-ß n-b-

h-bpsStcJm-Nn{Xwhc-°p-I.CXv\nß -fpsShón¬ èy-am-W v.]IpXnhen-∏-

ap≈ Im{SnUvPvt]∏¿FSpØ vHmtcmt{Umbnw-Kp-Ifpw HmtcmhkvXp-°fpw

XΩn-ep≈ _‘ w{]Xn-]m-Zn-°p∂ coXn-bn¬{Iao-I-cn-°p-I.Cucq]-L-S-\-bn¬

_me≥kv,lm¿a-W n,dnXIwF∂n-h-bpsSkz̀mhwImW n-°m≥{i≤n-°p-I.

(]mTw4ImW p-I)

Draw sketches of a table, pencil, flower vase, pencil box and book. These are available at
your home. Take on 1/2 imperial size cartridge paper and arrange all these drawings into
such a composition that expresses a relationship between each objects. Take care to show
the elements of balance, harmonyand rhythm in this composition. (See Lesson 4)

uuu



tUäm F³{Sn Hm-̧ -tdj³

Data Entry Operations

(229)
Syq-«À amÀ-¡vv-Uvv A-ssk³-saâ v

Tutor Marked Assignment

B -sIam¿°v: 20

Max.Marks : 20

Ipdn-∏v: (i) F√mtNm-Zy-ß ƒ°pw\n¿-_-‘-ambpwDØ -cwF-gp-XpI.HmtcmtNm-Zy-ß -fp-

sSbpwam¿-°p-IƒA -Xm-Xn-s‚h-i-ß -fn¬ \¬-In-bn-cn°p∂p.

Note : All questions are compulsory. The Marks allotted for each question are given
beside the questions.

(ii) \n-ß -fp-sSt]-cv,F≥tdmƒ-sa‚v\-º¿A I s\-bnw,k-_v-sP-Iv-‰vF∂n-hD-Ø -

c-I-S-em-kn-s‚B -Zyt]-Pn¬ am{Xwtc-J-s∏-bp-Ø p-I.

Write your name,enrollment numbers,AI name and subject on the first page

of the answer sheet.

1. Xm-sgsIm-Sp-Ø n-cn-°p∂ tNm-Zy-ß -fn¬ G -sX-¶nepwH-∂n-\vDØ -cw\¬-Ip-I. 2

Answer any one of the following questions.

(a) I-ºyq-́¿ m̀-jF-∂m¬ F-¥mW v.hnhn-[X-cw

I-ºyq-́¿ m̀-jI-sfIp-dn-®vX-øm-dm-°p-I. (]mTw1t\m-°p-I)

Write a note on Computer language and its Classification. (See Lesson 1)

(b) I-ºyq-́-dn¬ \n∂pwH-cp̂ -b¬ A -s√-¶n¬ H-cpt̂ mƒ-U-¿

\o-°w sN-øp-∂-Xn-\p-≈ kv-s‰-∏v-kvhn-i-Zo-I-cn-°pI. (]mTw2t\m-°pI)

Write Down the steps to delete a file or folder from the computer. (See Lesson 2)

2. Xm-sgsIm-Sp-Ø n-cn-°p∂ tNm-Zy-ß -fn¬ G -sX-¶nepw H-∂n-\vDØ -cw\¬-Ip-I.(2am¿-

°v)

Answer any one of the following questions.

(a) th-Uvt{]m-{Km-an-se'dqf¿'s‚ G -sX-¶nepwc-≠ vD-]-tbm-KwF-gp-XpI.

(]mTw3t\m-°pI)

Write any two uses of 'ruler' in Word Program. (See Lesson 3)

(b) Xm-sgsIm-Sp-Ø n-cn-°p∂-Xvhn-i-Zo-I-cn-°p-I. (]mTw2t\m°pI)

Describe the following.

(i) do-ssk-°nƒ_n≥

Recycle Bin

(ii) Iyp‰nw-MvF t{]m-{Kmw(H-cpt{]m-{Km-an¬ \n∂pwFß -s\]p-dØ vvI-S°mw)

Quitting a Programe



3. Xm-sgsIm-Sp-Ø n-cn-°p∂ tNm-Zy-ß -fn¬ G -sX-¶nepwH-∂n-\vDØ -cwF-gp-Xp-I. 2

Answer any one of the following questions.

(a) hn-i-Zo-I-cn-°p-I :

(i) \m-hn-tK-‰nw-Mvh¿-°v-jo‰v

(ii) ‘tdm'bpw 'sk√v'DwFß -s\H-cph¿-°v-jo-‰n¬ C≥-tk¿-́vsN-ømw.

(]mTw6t\m-°pI)

Define : (i) Navigationg worksheet

(ii) Instert cells and rows (See Lesson 6)

(b) Xm-sgX-∂n-cn-°p-∂-hXn-c-s™ -Sp-°p-hm≥D≈ tjm¿-́p-IƒF-¥m-W v?

(]mTw4t\m°pI)

What are the shortcuts for selecting ? (See Lesson 4)

(i) H-cphm°v

A whole word

(ii) H-cp]m-c-{Km̂ v

Whole paragraph

(iii) I-́n-MvZnsS-Iv-Ãv(H-cpsS-Iv-Ãvam{Xwap-dn-s®-Sp-°m≥)

Cutting the text

(iv) H-cptUm-°yp-sa‚v{]n‚vsN-øm≥

Printing the document

4. Xm-sgX-∂n-cn-°p∂ tNm-Zy-ß -fn¬ G -sX-¶nepwH-∂n-\vDØ -cw\¬-Ip-I. 4

Answer any one the following questions.

(a) h¿-°v-_p-°n-\vH-cp]m-kv-th-Uv\¬-Im≥D-≈ sÃ-∏v-kvhn-i-Z-am-°pI.
(]mTw6Im-W pI)

Write the steps to Set a password for a Workbook. (See Lesson 6)

(b) Nm¿-́n-s‚ A -© vvvL -S-I-ß sf(Iw-t]m-sW ≥-kvv)]-‰nNp-cp-°nhn-h-cn-°pI.

(]mTw8Im-W pI)

Explain briefly any five components of a chart. (See Lesson 8)

5. Xm-sgX-∂n-cn-°p∂ tNm-Zy-ß -fn¬ G -sX-¶nepwH-∂n-\vDØ -cwF-gp-XpI. 4

Answer any one of the following questions.

(a) ss…-Up-I-fn¬ ]n-Iv-®¿_p-≈-‰p-Iƒ C-Sp-∂-XvF-ß -s\-bmW v? (]mTw9ImW pI)

How do you insert a picture bullets in slides (See Lesson 9)

(b) ''ABC kv-Iqƒ" H-cpC‚¿kv-Iqƒ a’-cw kw-L -Sn-∏n-°p∂p.A -Xn-s‚ t{_m-j¿
\n¿-Ωn-°p-hm≥D-≈ Npa-X-ekv-‰pU‚vI-Ω-‰n-°vB W v._m-\-dn¬tN¿-°p-∂-Xn-\mbn

Xm-sgsIm-Sp-Ø n-cn-°p-∂ Im-cy-ß ƒ sN-øm≥ A h-sck-lm-bn-°q.(]mTw4Im-W pI)

"ABC School " is organising an Inter School competition.The Student Committee of the
school have to design the brochure for the same. Help the students with the following
options to be added on the banner. (See Lesson 4)



(i) A -h-cp-sStUm-°yq-sa‚vvv"Sports Day"F-∂ t]-cn¬ sU-kv-°-tSm-∏n¬ tk-hvsN-øW w.

Save the document with the name "Sports Day" on desktop.

(ii) tUm-°yq-sa‚vt]-Pvvt_m¿-U-¿\¬-IpI.

Add the page border to the document.

(iii) t]-Pn-\v_m-°v-{Ku-≠vI-f¿\¬-Ip-I.

Add colour to background of the page.

(iv) am¿-Pn≥4B -°pI.

Set the margins to 4.

(v) C-s‚¿-s\-‰n¬ \n∂pw {]n‚vsN-øm≥ km-[n-°p-∂ Nn-{X-ß ƒ F-Sp-Ø v\¬InA -Xv
a-t\m-l-c-am-°pI.

Add the printable image from the internet to make it beautiful.

6. Xm-sgX-∂n-cn-°p-∂ t{]m-P-Iv-‰p-I-fn¬ G -sX-¶nepwH-sc-ÆwX-øm-dm-°pI.

Prepare any one project out of the following projects given below.

(a) H-cpF-Iv-ssk¬ jo-‰vX-øm-dm-°nXm-sgsIm-Sp-Ø n-cn-°p-∂ tNm-Zy-ß ƒ-°v

D-Ø c-sa-gp-XpI. (]mTw8t\m-°p-I)

Create an Excel sheet and answer the following questions. (See Lesson 8)

A B C D E

ABC Grocery Shop1

2 S.No item Qty Rate Total

3 1 Soap 23 10

4 2 Detergent 24 45

5 3 Tooth Paste 8 12

6 4 Dettol 12 10

7 5 Butter 12 14

8 6 Refined 16 10

(i) ap-I-fn¬ X-∂n-cn-°p-∂ FIv-ssk¬ jo-‰vX-øm-dm-°ntk-hvsN-øp-I.

Create the above sheet and save the file.

(ii) Qty * Rate Xp-II-W -°m-°p-hm-\p≈ t̂ m¿aqeE3 F-∂ sk√n¬ F-gp-XpI.

Write the fromula in cell E3, to calculate the total amount which is Qty * Rate.

(iii) am-Iv-kn-aw F{X Qty D-≠ vF-∂-dn-bp-hm≥ D≈ t̂ m¿ape C3 F-∂ sk√n¬

F-gp-XpI.

Write the formula in cell C3, to print the maximum Qty.



(iv) Rate Dw Item Dw IqSnY - axis ¬ h-c-Ø -° co-Xn-bn¬ _m¿-]m¿-́v\n¿-Ωn-°p∂-Xv

Fß -s\F-∂vhn-h-cn-°pI.

Write the steps to create the bar chart of the rate with item on y axis.

(b)"Hm-∏-td-‰n-Mvkn-Ãw"F-∂-Xn-\pB -kv-]-Z-am-°nH-cp]-h¿t]m-bn‚v{]-k-t‚-j≥
X-øm-dm-°p-I.Xm-sg\¬-In-bn-cn-°p-∂ Im-cy-ß ƒ Dƒ-s∏-Sp-Ø p-I.

(Hm-tcm∂pwHm-tcmss…U n¬) (]mTw9Im-W pI)

Create a Power Point presentation on "Operating Systems". It must include the following.
(one slide each) (See Lesson 9)

(i) F-¥m-W vHm-∏-td-‰n-Mvkn-Ãw?A -Xn-s‚ Nn{XwIq-SnDƒ-s∏-Sp-Ø pI.

What is Operating System ? Add the image for the same.

(ii) hn-hn-[XcwHm-∏-td-‰n-Mvkn-Ãw-kv

Types of Operating Systems.

(iii) I-ºyq́¿Hm-∏-td-‰n-Mvkn-Ãw.

Computer Operating System.

(iv) sam-ss_¬ Hm-∏-td-‰n-Mvkn-Ãw.

Mobile Operating System.

u u u



Krl-imkv{Xw

Home Science

(216)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment

]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ°pw DØ -c-sa-gp-tX-≠-Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given beside

the questions.

(ii) \nß -fpsSt]cvFt‚mƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page of the

answer sheet.

1. G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬ DØ cwFgp-Xp-I.2

Answer any one of the following questions in about 40-60 words.

(a) "Krl-imkv{Xw'HcpIebpwimkv{X-hp-am-W v,Krl-imkv{Xw]Tn-®-Xn-\p-tijw

è n-°m-hp∂ c≠ vtPmenkm[y-X-Iƒ Nq≠ n-°m-W n-®p-sIm≠ vCuhkvXpX

hni-Z-am-°pI. (]mTw 1, 12 ImW p-I)

'Home Science' is both art and science, justify and tell two career opportunities after

studying home science.

(b) \nß -fpsSKrl-im-kv{X-Ø n-ep≈ A dnhvD]-tbm-K-s∏-Sp-Ø n-sIm≠ vHcpsNdnb

hoSns\Fß s\IqSp-X¬ ÿ ekuIcywtXm∂n-∏n-°p∂ coXnbn¬ A e-¶-

cn°mwF∂v\mevDZm-l-c-W -ß -fn-eqsShni-Z-am-°p-I.(]mTw 1, 12 ImW p-I)

How can we use the knowledge of home science in home decoration to make a small house

look spacious give four example two explain. (See Lesson 1, 12)

2. G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬ DØ cwFgp-Xp-I.2

Answer any one of the following questions in about 40-60 words.

(a) kao-IrX B lm-c-Ø ns‚ (balanced diet){]m[m\ywFgp-Xp-I.(]mTw3,5ImW p-I)

Give the importance of balanced diet. (See Lesson 3, 5)

(b) B lmcipNnXzw]men-°p-∂-Xn-\p≈ \mevam¿§-ß ƒFgp-Xp-I.

(]mTw3, 5ImW p-I)

Give four ways to maintain food hygiene (See Lesson 3, 5)



3. G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-fn¬ DØ cwFgp-Xp-I.2

Answer any one of the following questions in about 40-60 words.

(a) {]Ir-Xn-ZØ \mcp-Ifpwa\p-jy-\n¿ΩnX \mcp-IfpwD]-tbm-Kn®v\n¿Ωn-®n-́p≈

c≠ vDev]-∂-ß ƒhoXwN¿®sNøp-I.hkv{X-ß ƒIgp-Ip-∂-Xn\vap≥]vA h

th¿Xn-cn-t°-≠-Xns‚c≠ vImc-W -ß ƒFgp-Xp-I. (]mTw9,10 ImW p-I)

Discuss two products each made from natural and man-made fibres and give two reasons
why sorting should be done before washing clothes. (See Lesson 9, 10)

(b) ]q¿Ø n-bm-ImØ XpW n-I-fpw,]q¿Ø o-I-cn®XpW n-Ifpw(grey fabrics and finished

fabrics) XΩn-ep≈ c≠ vhyXym-k-ß ƒFgp-Xp-I.IqSmsX ssS B ≥UvssU

coXn-bn-eqsSZp∏́ \ndwap°p-∂-Xn-\v,am¿_vfn-ß v,t\ḿnß vF∂nhhni-Z-am-

°pI. (]mTw9,10,11ImW p-I)

Give two differences between gray fabric and finished fabric and Explain the method of
marbeling and knotting to make colourful duppattas by tie and dye method.

(See Lesson 9, 10,11)

4. G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°p-I-fn¬ DØ cwFgp-Xp-I.4

Answer any one of the following questions in about 100 to 150 words.

(a) \nß -fpsSIpSpw-_-Ø nseapØ -—≥,apØ -»n,amXm-]n-Xm-°ƒ,c≠va°ƒF∂n-

ß s\B dvA wK-ß ƒtKmhbv°vc≠m-gvN-tØ °vHcpbm{X t]mhm≥Xocp-am-

\n-°p-∂p.A h-cpsSbm{X hnP-b-I-c-am-°p-hm≥A hscklm-bn-°p-∂-Xn-\v,

(]mTw14,15 ImW p-I)

Your family of six member comprising of grand parents, parents and two children have
planned to go on a trip to Goa for two weeks. Help them two make their trip successful by:

(See Lesson 14, 15)

(i) \n¿∆-l W {]{Inb (Management)bpsShnhn[L -́ß ƒhni-Z-am-°p-I.

Show the steps of management process

(ii) bm{X-bpsSHcpZnh-k-tØ -°p≈ ka-b-]-≤XnXøm-dm-°pI

(]mTw3,19 ImW p-I)

Make a time plan for a day that you would follow during the trip.

(b) \nß ƒD∂X hnZym-̀ym-k-Ø n\v\K-c-Ø n¬hmS-Ibv°vX\n®vXma-kn-°p-∂p.

Xmsg-]-d-bp∂ Imcy-ß ƒ\nß -fpsSkplr-Ø n-t\mSv]¶p-h-bv°pI.

(]mTw3,19 ImW p-I)

You havecome to the city for higher studies and live alone in a rented accommodation.
Share the followingwith your friend. (See Lesson 3, 19)

1) HcpIq́pIpSpw-_-Ø n¬Pohn-°p-∂-Xp-sIm-≠p≈ KpW -ß ƒ\nß -fpsSkplr-

Ø n-t\mSvhni-Z-am-°p-I.

Explain the advantages of living ina joint family to your friend



2) \nß ƒ°v̀£ W w\¬Ip∂ B ƒ°vHcm-gvN-tØ -°p≈ £̀ W hnhc]́ nI

B kq-{XW wsNbvXv\¬Ip-I.

Plan a weeklymenu for yourself which you will give to your food vendor.

5. G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm°p-I-fn¬ DØ cwFgp-Xp-I.4

Answer any one of the following questions in about 100 to 150 words.

(a) \nß -fp-sS A Ω HcpA wKo-IrX Iº-\n-bn¬ \n∂vA Xns‚hnev]-\-Im-eØ v

HcphmjnwKvsajo≥hmß p-∂p.Hcm-gvNbv°vtijwA Xn\vtISvkẁ -hn-°p∂p.

(]mTw22ImW p-I)

Your mother bought a washing machine from a reputed companyduring 'sale period' which
developed a defect after a week. (See Lesson 22)

(i) HcpD]-t̀m-‡ mhvF∂ \ne-bn-ep≈ A h-Im-i-ß -sf-°p-dn®v\nß -fpsSA Ω-

tbmSv]d-bpI. (G -sX-¶nepw2FÆw)

Tell your mother what are her rights as a consumer (any two).

(ii) Iº-\n-I-fpsShnev]\ImeØ vkm[-\-ß ƒhmß n-°p-tºmƒkẁ -hn-°m-

hp∂ Hcpt]mcmbvaF¥mW v?

What can be a possible disadvantage of buying a product during 'sale period'.

(b) {Kma-]-© m-b-Ø n¬ \n∂pw \nß -tfmSv"B tcmKyw' F∂ hnj-b-sØ -°p-dn®v

kwkm-cn-°m≥B h-iy-s∏-Sp-∂p.Xmsg-]-d-bp∂ Imcy-ß ƒkqNn-∏n-°p-I.

You have been asked by the Gram-Panchyat to talk about health give your talk on the

followingpoints. (See Lesson 7,8)

(i) B tcmKywF∂Xv\n¿∆-Nn-°p-I.IqSmsX imco-cnI B tcmKywam\-knI

B tcmKywF∂n-h-bpsS2khn-ti-j-X-IƒhoXwFgp-Xp-I.

Define health and give two characteristics each of good physical and mental health.

(ii) kmw{I-anItcmK-ß ƒHgn-hm-°p-∂-Xn\v\nß ƒ°vhón¬kzoI-cn-°m-hp∂

4am¿§-ß ƒFs¥m-s°-bm-W v.

What four measures can you take at home to avoid communicable diseases.

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

(a) \nß -fpsSA b¬]°wkµ¿in®vXmsg-]-d-bp∂ Imcy-ß ƒIs≠-Ø pI

(]mTw8ImW p-I)

Visit your neighbourhood and find out the followingdetails: (See Lesson 8)

(i) 60hb- n¬IqSp-X¬D≈-h-cn¬F{X-t]¿tImhnU v̨19hmIvkn≥FSpØ p?

]I¿®-hym-[n-Iƒ XS-bp-∂-Xn¬ hmIvkn≥ {]m[m\yw A ¿l n-°p-∂p.

F¥p-sIm≠v?

How many of the 60 years old and above have taken the vaccine for Covid - 19? Why

is vaccine important for infections diseases?



(ii) tImhnU v̨19_m[n-°p-∂-Xn¬ \n∂v\nß -fpsSIpSpw-_sØ kwc-£ n-°p-

∂-Xn\v\nß ƒFs¥ms° kpc-£ m-am¿§-ß -fmW vkzoI-cn-®-Xv.

What safetymeasures did your familyadopt to protect themselves from getting infected

with Covid - 19.

(iii) kmw{I-anItcmK-ß ƒXS-bp-∂-Xn\vkzoI-cn-°m-hp∂ kpc£ mam¿§-ß ƒ

kqNn-∏n-°p-∂-Xn\vHcp]Zyw/]ḿvFgp-Xp-I.

Write a poem/song to apprise about the safety measures to be taken to prevent

communicable diseases.

(b) \nß -fpsSA b¬]-°-Ø p≈ {]mb-ambA —-\-Ω-am-cn¬\n∂pwapXn¿∂-h-cn¬

\n∂pwXmsg-]-d-bp∂ Imcy-ß ƒtiJ-cn-°p-I. (]mTw5,6,20ImW p-I)

Talk to your grand parents or elderlypeople in your neighbourhood and gather the follow-

inginformation. (See Lesson 5,6,20)

(i) d{̂ n-P-td-‰-dns‚klmbwIqSmsX Fß -s\-bmW vA h¿Hmtcmkok-W nepw

è n-°p∂ ]g-h¿§-ß ƒkwc-£ n-®-Xv.

How did theypreserve seasonal food items without refrigeration.

(ii) A h-cp-sSImeØ vi–-a-en-\o-I-cW wIpd-hm-bn-cp∂pF¥p-sIm≠v?B am¿§-

ß ƒ\ap°vCuImeØ vkzoI-cn-°m≥km[n-°ptam?

Why was there less noise pollution in their time? Can those practices be used now?

(iii) A hcpsSIuam-c-°m-eØ vs]̈ Ip-́n-Iƒt\cń sh√p-hn-fn-IƒFs¥m-s°-

bmW v.

What challenges did adolescent girls face in their time.

uuu
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PSYCHOLOGY

(222)

Syq́¿am¿°vUvA ssk≥sa‚v

Tutor MarkedAssignment
]c-am-h[nam¿° v :20

Max.Marks : 20

Ipdn∏v: (i) F√mtNmZy-ß ƒ° pw DØ -c-sa-gp-tX-≠ -Xm-W v.HmtcmtNmZy-Ø n\pw

A \p-h-Zn-®n-́p≈ am¿°vtNmZy-tØ m-sSm∏wsImSp-Ø n-cn-°p-∂p.

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) \nß -fpsSt]cvF≥tdmƒ\º¿,hnjbwXpS-ß n-bhDØ -c-°-S-em-kns‚

B Zy-t]-Pns‚apIƒ m̀-K-Ø mbnFgp-Xp-I.

Write your name, enrollment numbers,AI name and subject on the first page

of the answer sheet.

1. XmsgsImSp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I-

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) sImSp-Ø n-cn-°p∂ ]co-£ -W -Ø n¬ h̨yXykvX {_m‚vt]cp-IƒD]-tbm-Kn®v

Hcphy‡ n-bpsS ssIsø-gp-Ø n¬ Nne-Ø p∂ kzm[o\wa\- n-em-°p-hm-\p≈

]T-\-Ø n¬ G sX-√m-amW vkzX-{¥-L-S-IhpwB {ioX L S-IhpwFs∂-gp-Xp-I.

CXns\kzm[o-\n-°p∂ A \p-tbm-Py-ambImc-W -ß ƒFgp-Xp-I.

(]mTw 2 ImW p-I)

In the followingexperiment "To studythe effect of differentbrands of pen on the individual's
handwriting", identify Independent variable and Dependent variable. Support your answer

with suitable reasons. (See Lesson 2)

(b) \nß -fpsSbYm¿∞ hb- ns‚A Sn-ÿ m-\-Ø n¬\nß ƒG XvL -́Ø n-em-sW ∂v

a\- n-em°nA Xns‚khn-ti-j-X-IƒFgp-Xp-I. (]mTw 12ImW p-I)

On the basis of your chronological age; observe the stage of life you are in and explain its

characteristics. (See Lesson 12)

2. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) am\- nIkΩ¿±waqew\nß -fpsSkplr-Ø n\v]co-£ -bn¬\√am¿°vhmß p-

hm≥km[n-®n-√.\nß ƒ°vA bmsf/A hsfCu{]Xn-k-‘n-bn¬Fß s\klm-

bn-°p-hm≥km[n-°pw. (]mTw18 ImW p-I)

Your friend is having stress because she couldn't score well in the examinations. How will

you help her/him to cope with the situation. (See Lesson 18)
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(b) \nß -fpsSNp‰p-]m-Sn¬ Hcm-fpsSkz̀mhwa\- n-em-°p-hm≥\nco-£ W w\S-Ø pI.

A h-cp-ambnB i-b-hn-\n-abw\S-Ø n-bXv\mepkqNn-I-I-fpsSA Sn-ÿ m-\-Ø n¬

\nco-£ W dnt∏m¿́vFgp-Xp-I. (]mTw2 ImW p-I)

Observe anyone in your surroundings to understand his/her behaviour. Write an
observation report based on four indicators of his/her communication.

(See Lesson 2)

3. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v40apX¬ 60hschm°p-I

fn¬ DØ cwFgp-Xp-I. 2

Answer any one of the following questions in about 40-60 words.

(a) Np‰p-]m-Sp-I-fpsSkΩ¿±wFß n-s\-sb√mwIpdbv°mwkm[n-°p-sa-∂p-≈-Xn\v

\mevam¿§-ß ƒ\n¿t±-in-°p-I. (]mTw23 ImW p-I)

How can you contribute in reducing environmental stress? Mention anyfour ways.
(See Lesson 23)

(b) \nß -fpsSbYm¿∞ hb- ns‚IqtS  3 Iq́nam\-knI{]mbwI≠ p-]n-Sn-°p-

hm≥km[n°pwF∂vhnNm-cn-°p-I.CXns‚A Sn-ÿ m-\-Ø n¬c≠ p-hn-t[-\bpw

C‚-en-PkvtIzmjn‚v(IQ)I≠ p]n-Sn-°p-I. (]mTw20 ImW p-I)

Assume that by adding  3 to your chronological age you get your mental age (MA).
Based on figures, calculate your Intelligence Quotient (IQ) in both the cases.

(See Lesson 20)

4. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepw HcptNmZy-Ø n\v100apX¬150hschm°pI

fn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) hóp-km-[-\-ß ƒhmß p-hm-\p≈ ]́ nIIS-bn¬FØ p-∂-Xp-hsc\nß ƒHm¿Ωn-

®p.]́ nI\∂mbnHm¿Ωn-°p-hm≥klm-bn-°p∂ \mevX{¥-ß ƒhni-Zo-I-cn-

°pI.ad-hn-°p≈ Imc-W -ß fpwhni-Zo-I-cn-°p-I. (]mTw6ImW p-I)

You have to memorize a list of household items till the time you reach the shop. Mention at
least four strategies that can be used to memorize the list better.Also explain the causes of
forgetting. (See Lesson 6)

(b) amt m-bpsSB h-iy-ß psSA [n-Imct{iW n-bpsSA Sn-ÿ m-\-Ø n¬\nß -fpsS

B h-iy-ß -fp-sStbmat‰-sX-¶nepw{]i-kvX-cp-sStbmtdmƒtamU¬hni-I-e\w

sNøp-I. (]mTw8 ImW p-I)

In the light of Maslow's hierarchy of needs, analyze the needs of your role model or any
other famous person in your locality (See Lesson 8)

5. Xmsg-sIm-Sp-Ø n-cn-°p∂ G sX-¶nepwHcptNmZy-Ø n\v100apX¬150hschm° p

Ifn¬ DØ cwFgp-Xp-I. 4

Answer any one of the following questions in about 100 to 150 words.

(a) kt¥m-j-hm-\mbHcm-fpsS\mevkz̀mhkhn-ti-j-X-Iƒhni-Zo-I-cn-°pI

(]mTw17ImW p-I)

Explain at least six characteristics of a happyperson (See Lesson 17)
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(b) \nß -fpsSÿ eØ vhnZym-̀ymkwt\Sp∂ Iṕn-I-fpsS\mev{]iv\-ß ƒI≠ p-]n-

Sn®vhni-Zo-I-cn-°p-I.Cu{]iv\]cn-lm-c-Ø n-\p≈ am¿§-ß fpw\n¿t±-in-°p-I.

(]mTw16ImW p-I)

Identifyand explain anyfour problems that maybe faced bystudents pursuing education in

your locality.Also suggest some measures to deal with these problems. (See Lesson 16)

6. Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ G sX-¶nepwHcpt{]mPIvSvXøm-dm-°p-I. 6

Prepare any one project out of the given below:

a) \nß fpsS]cn-k-cØ vImW p∂ G sX-¶nepwaq∂p-X-c-Ø n-ep≈ aen-\o-I-cW w

I≠ p-]n-Sn®vk¿°m-cpw,sdkn-U‚vsh¬s^-b¿A t m-kn-tb-j (RWA) \pw

\nß fpw CXns\adnIS-°p-hm≥kzoI-cn-®n-́p≈ aq∂vam¿§-ß ƒhni-Zo-I-cn-

°pI. (]mTw23ImW p-I)

Identify any three types of pollution in your locality and describe at least three measures
taken by Government, Resident Welfare Association (RWA) and you' to deal with the
pollution. (See Lesson 23)

(b) Poh≥hn⁄ m-\n¬\n∂pwG sX√mwhn[-Ø n¬B [p-\nIhnZym-̀ymkwhyXym-

k-s∏-́n-cn-°p-∂p.t{]£ m[ym\hpwhn]m- -\bpw 15ZnhkwhoXw{]mIvSokv

sNøp-I.CXva\- ns‚\nb-{¥-W -Ø n\pwA ®-S°w]men-°p-∂-Xn\pwFß n-

s\-sb√mw{]tbm-P\wA s√-¶n¬klm-b-am°nF∂p-≈-Xn-s\-°p-dn-®p≈ Hcp

dnt∏m¿́vXøm-dm-°p-I. (]mTw27ImW p-I)

Comment how 'Modern Education' differs in contrast to 'Jeevan Vigyan'. Practice 'Preksha
Dhyana' for 15 days and 'Vipassana' for another 15 days and make a report on how both
areuseful/helpful incontrollinganddiscipliningthemind. (See Lesson 27)

uuu


